

A r =	d =	o =	S =
7			
	21		
		40,82	
			200,96

B r =	d =	o =	S =
8			
	13		
		65,94	
			153,86

A r =	d =	o =	S =
7			
	21		
		40,82	
			200,96

B r =	d =	o =	S =
8			
	13		
		65,94	
			153,86

A r =	d =	o =	S =
7			
	21		
		40,82	
			200,96

B r =	d =	o =	S =
8			
	13		
		65,94	
			153,86

A r =	d =	o =	S =
7			
	21		
		40,82	
			200,96

B r =	d =	o =	S =
8			
	13		
		65,94	
			153,86

A r =	d =	o =	S =
7			
	21		
		40,82	
			200,96

B r =	d =	o =	S =
8			
	13		
		65,94	
			153,86

A r =	d =	o =	S =
7			
	21		
		40,82	
			200,96

B r =	d =	o =	S =
8			
	13		
		65,94	
			153,86